H(II)-Economics—H-3A

2017
ECONOMICS —HONOURS
Third Paper
(Group-A)

Full Marks — 50

Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks

Section — A
1. Answer any five questions :

(a) A student is first and foremost interested in cold drink and would
be willing to forego any quantity of milk for the smallest additional quantity of
cold drink. However, if the cold drink’s consumption is given, the student prefers
1o have more milk rather than less. Can you draw an indifference curve in this
casc ? Justify.

(b) Suppose that an individuals utility function is u(w) = w2 Is the
person a risk lover ? Will he accept a gamble where three is a chance of
winning Rs. 20 and of losing Rs. 20 with equal probability, if his initial wealth is
Rs. 100 ?

{¢) A firm produces bicycles using two variable inputs — bicycle frames
and wheels. Draw the isoquants for 100 and 200 units of output. Why do they
look like this ?

(d) Suppose that a producer's total cost function is as follows :

TC =300 + 30Q + 0.020% where TC is the total cost in dollars and
Q is the number of cases of the product produced. Obtain TFC, AFC, TVC, AVC
and MC functions. Calculate MC for first two units.

(e) (i) How can one measure monopoly power of a producer ? Is this
power related to mark-up pricing ?

(ii) For a profit maximising monopolist, how docs this markup
depend on the elasticity of demand ?

(f) Use Prisoners Dilemma game to determine why individual
maximization does not result in the best outcomes for the players.

(2) Anincrease in the demand for jari works increases wages of women
workers engaged in such work. Is the long run supply curve for jari works likely
to be horizontal or upward sloping ?

(h) Why does excess capacity exist in a monopolistically competitive
market ?

Section — B
Answer any five questions
2. (a) Ifthe demand for a product is perfectly inelastic, what is the shape
of the corresponding price-consumplion curve ?

(b) Jaya always gets twice as much utility from an extra ballet ticket as
she does from an extra basket ball ticket regardless of how many tickets of cither
type she has. Draw Jaya's income-consumption curve and her Engel curve for
ballet tickets.
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